The company makes a sale (sale 1) at $60/bbl for a delivery month. Before the time limit for nominating sale 1 it observes that the market price has fallen.  It therefore makes a matching sale and purchase (Sale 2 and Purchase 1) at the present market price of $58/bbl. It will book out Sale 1 with Purchase 1.  Before the time limit for nominating Sale 2 it observes that the market is still falling.  It therefore makes a matching sale and purchase at $56bbl (Sale 3 and Purchase 2).  It will book out Sale 2 with Purchase 2. When the time limit for nominating Sale 3 arrives the market price has risen. Sale 3 is therefore the lowest point in the cycle.   The company therefore nominates Sale 3 before the time limit for doing so expires.  The profits from the book outs of Sales 1 and 2 will be taxed at a maximum of 30%, whereas the higher tax rate of up to 75% will only apply to the $56bbl sale.
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